Ground Drive Spreader
Parts Manual

85 - 110 Cubic Foot Models

For Reference with ABI Classic Ground Driven Spreaders
Manufactured Before April 24, 2016

QDI ATTACHMENTS

© Copyright 2017 ABI Attachments



ABI Classic Spreader Setup Guide

Manual End Gate and Fines Pan Installation

ABI(Absolute Innovations, Inc.) - 855-211-0598 - www.abiattachments.com



T

,-71

¥
(Pa-——2

@

Hwon

© N o !

w©

10.
12.
13.

14,

16.

T

N
\\ (el

3
N\

ABI Classic Spreader Setup Guide

85/110 Cu Ft Classic Spreader Lever Assembly

gy B

\ Y

SEtiSEIEWS . s bieiadinn. wumia 5/16" x 3-1/4"
Double SetT-Collar ............ LS316
RO voniosmadummmad snien catf2"
Cotter Pin 3/16" x1" ..... CP-187 - 1000
Lever Holder .. .............. LSL8SLH
WEBESUBI, o il siiiwins sigeniya dnd LSL
Collarsys il sbgis o 3/8 shaft collar
Lever-Rod . . ssus i s i LR100
SPING.: sgiissiiis saiedi i 6812507
Vieb Lever Holder Plate . ... ... LSL85CLP
Chain Lever Holder Plate ...... LSL85CLP
BOlS iivsron pithniasenem. s 1/4 x 5/8
Chainilever: v dicmoib s sum s LSL
ROGY Suiiiiuninrh e sibwamads RL100
Disengage Arm ............. L5185 DA
GrEasePIDB i L miinsing o5 H1684

Lever Shaft .

Parts Numbers for Reference only!

ABI(Absolute Innovations, Inc.) - 855-211-0598

www.abiattachments.com



ABI Classic Spreader Setup Guide

85/110 Cu Ft Classic Spreader Main Idler Assembly

1. |dlerSproeket sy, sosbuin s £32

2o BUSHING . o Saomit e s 3x3/4

3 Grease Bolt ... .. w0 i 1/2 x 3-3/¢

7 R Y7 Ty -t O AU (I (1= LA B 1/2"

S, locknut . .............n Trrete o o
6. Arm Clevice . ...... ... -.LS185CAC

7. Expansion Spring . .......... LAQ20804
8, Bracket: cowiinepe s ... LS185CA
O BUSHIOD:: sodasitoe vatsmnige o 2-1/2 % 3/4
10. Roller Chain #CASBS - 93 Link + co = 152" + co
11. Chain Connector Link ........... CA550
12. FootBracket—4..................... LSP185CAB1

Parts Numbers for Reference only!

ABI(Absolute Innovations, Inc.) - 855-211-0598 - www.abiattachments.com



ABI Classic Spreader Setup Guide

85/110 Cu Ft Classic Spreader Main Beater Assembly

7
1. Cotter Pin 3/16x 1-1/2 ....CP187-1500
2. Grease House 18" ........ ....HB82018
T R R e N A SRS S SN i/4x1"
4. Sprocket 9-Tooth ... ......., ... CA550
S -1 [ o O [ Py 1684
B BOAMNG wawms Susismn cnibtmms amn 273
7. Mounting Bracket .. ... ...... LS185MCH
& SHATG e o Vil s e ot 85-100-110
5 Lo BeaterBar! e wratieiiing e Left

0. INNERSPIoEKEE Liwigbini sumivans s 60B36

¥ QuterSprocket:| v ssn coniangs o 60830

12. RightBeaterBar ,............... Right

13. Female Grease Zert . ........... H1618

Parts Numbers for Reference only!

ABI(Absolute Innovations, Inc.) - 855-211-0598 - www.abiattachments.com



ABI Classic Spreader Setup Guide

85/110 Cu Ft Classic Spreader Top Beater Assembly

1 A ANANNANAL

A
/5 /1 & 1 r.=4ﬂ_‘:,==- —8
if .'!__;' I A = #——B‘E Ty BN
—t I
S R
== pae

5 g 52 DENBIR
P l! L?";:,_——f—~—j~f? — e
o@D =% &
S |
| 1
3 i 5
5
1. CotterPin 3/16x2" .., .. . CP-187 - 1000 11, Chain Tightner Bracket ... . ... _, LSCi81
2., ANMSSHEE 1" = 6o o . W14 - 1000 12. Bolt- Carriage Head . ........ /2 x42
2r BOBEAG! SRl S m i) 284 13 1GreaseiZett i otneiini s s 1684
4. GreaseZert ... vnice g s 1641 Zert 14. Roller Chain  #60 ........... . ... 64"
S BIACKE sl b o s LS185 TCH 15, Idler Sprocket ... ... .. ... .. .. 808B11H
B SBEE 5ot v susiasi o s 1x51-1/4 16; LockWaSHEY ., i qusesyiai | 1/2"
R BOAMOEBAT Lo copnessan s oo Left Ve NOEERNS Soncmvssss i s 1/2"
& BEAWEREE L i e i Right
S SPIOEkBL e e s S 60I;25
180 KBY e snions S 1/4 x 1-1/2

Parts Numbers for Reference only!

ABI(Absolute Innovations, Inc.) - 855-211-0598 - www.abiattachments.com



ABI Classic Spreader Setup Guide

85/110 Cu Ft Classic Spreader Web and Floor Assembly

=3 '@@@Eﬁﬁlﬂa
\
\\

!

=
\\\\ \ = '"O S 4;" S ="
\‘\f—\“ rfji’f‘@?w TR S 4 '::; i " &
%"& %ﬂ i 1P
I = @A, (

.

l +— @ = ?
T TROAUNK 7/16 oo e 7 Links between each slat
2. T-ROASIBL for 100, 110, 85 Spreader
3. CotterPin 1/4x2 ... ... i SRS CP-218 - 2000
O R RO, LU SSRGS . 1-1/8 Washer
3 Welr DIWEBEERNG: i s o i o G St i 331 Bearing
G OICAEINRE on cnaiinma s asn e R el 12 in. Grease Tube
7 EEMSlBGIeRsB e ruviv: spiiitons Il ms i H1618
KeWis o cummbaiss oo sedeaazmes & T 1/4 x 1-1/2 Key Stock
9] SSPIOCKRY st s 315 5-Tooth Sprocket
SRR alnliT B ¢ R SN S for 85, 100, 110 Spreader
L A=} SN T o o e e e e e S L5185WC
T2 WERIOIEEPIBIES it it il o v st i LS WP
13. Webldler Bracket (L) .. ........ .. ... .. ... ... ... W.ILB.L.
L (R AR O S SO N 3/4 Washer
12y WeRIdISFSHIaEkEl,. o iinunisabumamumibrs s 3133 &-Tooth Sprocket
16, CoMerPINBIBN IR svus conmeauin stmpgay . i CP-187 - 1500
17, WEDIEr BIACKENIRY . ciovnns ooz wy s, o W.LB.R.
18. Grease Zert . SR AR SRR e T H1612 Zert
(Tt | [ P o A 7/16 Shaft Collar

Part Numbers for Reference only!

ABI(Absolute Innovations, Inc.) - 855-211-0598 - www.abiattachments.com



22 ]8 )
e
i o]
30 28 25
=
20— L&
2 E—
1 e g
e SYOREATIN o mss - Dmitsaiin st te LS185 - YA 19.
2 ‘Roller AfMéerdicisasaras . LST100WRA 20.
3i AMERIEE vl s E LS185APWD 21.
6. Steel Bushing ......... 2 x7/8x2-1/2 22.
75 CROIBE S o R E e S R LS515 23
8: HeckiNUE woindi. smmssinn S i st
9 PawdPushArm .............. (AL Pa g
10. GreaseBolt ............... 1/2 x 3-3/4 26.
Ts INIGs Srmmeaianbie. Susam, Sapsed 5/16" 27.
Y RawWh: v dosins suniman e 8AC 28.
15: SSEING il e b dios e 1439 S 29.
16. Cotter Pin 3/16x1 ...... CP-187 - 1250 30.
L TfET. | R (S U ST 3/8x3-1/2  31.
18. Pawl Control Arm({2) .......... LS185R1 32.

ABI Classic Spreader Setup Guide

85/110 Cu Ft Classic Spreader Web Drive Assembly

=
I'll =
%‘V
o0 T’: 7
;@%@“‘
e
32
21
!
8.
- T2
Ratchet Wheel ... ..o LS195R
Support Arm .. ... .. .. LSP185WDSS
Washer 178" Lussivansimis N16-1125
Cotter Pin 1/4 x 1-1/2 ....CP-250- 1500
Bolt cinrniis Sy S caof O3
BUSHING s cninmis ai 1-1/2 x 3/4 Spacer
LOCKMVASIRBT i wmaras e i G D B
MIBBRBE. i uemce o 3/4"
Bushing 3/4 x 7/8 x 7/8 .......HAB38L
NEEE L s e et s 3/8
ShatECollar e i s 3/4
Retaining Pawi Bracket ,..,..... LSWI18-R
ST v o o biidn b i S e
EXTENSION SPANG: o sintiiati oot LSe55

Part Numbers for Reference only!

ABI(Absolute Innovations, Inc.) - 855-211-0598 - www.abiattachments.com



ABI Classic Spreader Setup Guide

85/110 Cu Ft Classic Spreader Wide Spread Assembly

1. ‘CotterPin 1/4%x2" . ....n.. CP-25C - 200
2. Washer 1-1/4" . ........... N14 - 1250
3 Bl casminie s m e 318X 1
4, KeeperPlate ....... ... .. 0574SRL
CiivBOAMING: & i amidive wibrasiisn Faveiin 273
Bl HGreaseIZertY | 1 vatise S antTe et 1610
73 JBeanngiPlate! e s 200513
8: SenCollar:: fiuii sk eansisss 1-1/4"
2 KR o] | N . s oy N A2%344 12
HER A [0 R Y e D M /AORT =S 7 3/8
11. LeftSidePaddle ............. LSWSPE-L
12. RigniSide Paddle ............ LSWSPE-R
13. Shaft 1-1/4" #414C ... .for 85, 100, 110
1 SSPTOCKEE ol onision: sntsn s iics 60812
TR: SBAMCNAIN i mmmamevn isnes #60 Chain

Part Numbers for Reference only!

ABI(Absolute Innovations, Inc.) - 855-211-0598 - www.abiattachments.com



ABI Classic Spreader Setup Guide

2423 26

AR e e 85,100, 110  15. 1/8 NPT Grease Pipe ............. 1684
2:; ABGRARIDE iy AB2DTE: "6 StarHb skt e L526A
3. Female Grease Zert ............ H1618 17 SPROCKET L. Ll duuis, ool CASSOAIT
4, N2 CregseTun, o an v HE20%E A8 Kew sl ini= s 3/8 x 2.5 Key Stock
9: BRI 2 v LS185AB 19, SprocketHub.................. L527A
6. Web Axle Bearing Plate ... LS18SAPWD  20. Hub .........ooorror L530
7. AxleBearingPlate ............ LST85AP  21. Grease FItting: ... vivininns i H1637
8. Axle Bearing Holder ......... LS100ABH  22. Disc Wheel ...... .. 7.50-24 or 7.50-20
9. Washer 2-1/8x3-1/8 ....... WiHd-2125: 23 AMECOllat consmnina sy L529
10 Bolisnadnis Welsims 1/2 % 1-3/4 240 AXERING e 1/2 % 3:1/2
T TOSIOWSENNG s depisiiz, i 15165  25. CotterPin (3/16x1)...... CP-187 - 1000
7 T RS S T W S 17C 26, HubBolts(8).......... 1-1/4 % 7/16 Fine
Y BOI e A SR WARZ: 2% “TOSIORSPING s v b 1515
14. Disengage Arm .............. LSOSER: 2B TPEW sy A R G R 18C

Part Numbers for Reference only!

ABI(Absolute Innovations, Inc.) - 855-211-0598 - www.abiattachments.com



ABI Classic Spreader Setup Guide

If you have additional questions about your ABI Classic Spreader please feel free to
contact our Customer Support Staff at 855-211-0598 M-Fr 9am — S5pm EST. You can also
check out or support page at www.abisupport.com for more information and videos on
your ABI Classic Spreader or any of our other quality products.

ABI(Absolute Innovations, Inc.) - 855-211-0598 - www.abiattachments.com

10



